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g/ m°N volppm m®Nh volppm mg./m°N volppm volppm pg m°N pg m°N pg m°N
5878| 5H28H <0.002 9 0.13 0.031 52 5 3 <10 - - -
7A38| 7H24H <0.002 4 0.075 0.017 58 4 2 <10 0.14 0.0012 0.14
9f17H| 1088H <0.002 9 0.14 0.032 55 6 4 <10 - - -
1186H| 118278 <0.002 7 0.10 0.025 56 1 1 <10 - - -
1 0.002 7 0.111 0.026 55 4 3 10 0.14 0.0012 0.14
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FEA w2R 12%BEERNE T2 AR = i 12%BRBRE 12%BMRBE 12%BERIRE | 12%BRINE | 12%BFRE| 12%BF0RE
g/ mN volppm m®Nh volppm | mg/m°N | volppm volppm | pg/m®N | pe/m’N | pg/m°N
587H| 5H28H <0.002 8 0.13 0.030 58 7 4 <10 - - -
7A3H| 7H24H <0.002 3 0.051 0.011 55 3 2 <10 0.23 0.0020 0.23
98178 10H8H <0.002 1 0.099 0.022 66 9 5 <10 - - -
1186H| 118278 <0.002 4 0.070 0.016 59 4 2 <10 - - -
) 0.002 6 0.088 0.020 60 6 3 10 0.23 0.0020 0.23
R ME =0.08 =1.405 =234 =250 =700 =430 =100 =50
EIRE =0.01 =20 =80 =20 =30 =50
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